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E5 Al 16,987,000 17,143,600 A 156,600
200 M2l +=¢ 16,987,000 16,327,700 659,300
210 & HAN 2= 2,338,300 1,896,700 441,600
212 AHBE ¢ 13,000 13,000 0
212-08 JIEtAE ZE 13,000 13,000 0
<usStdE > 13,000 13,000 0
oOHaZE 20IE0IE 13,000,000 12| 13,000
214 ANgE=¢ 2,298,300 1,856,700 441,600
214-02 Fx=+¢ 2,083,200 1,633,200 450,000
< US> 2,083,200 1,633,200 450,000
OBEFXE FXR= 2,083,200
02)e SEFXE 42,000,000 x12& 504,000
=&Y =X& 12,600,000 x12& 151,200
QLES FXF 5,150,000& ~12& 61,800
O3 ES F=XE 3,000,000& x12& 36,000
OKNLS F=XE 4,750,000& 128 57,000
QU MET F=XHE 5,000,000& =12& 60,000
Q@2 AA2 =XHE 3,900,000& ~12& 46,800
ez ¥ AFHE N2 “&F=IE 12,500,000 x12& 150,000
O-sd =X & 2,800,000& ~12& 33,600
ONRAAIINK KBEH =X E 17,900,000 x12& 214,800
OASRAAINK US2ERE F=XHE 11,500,000 x12& 138,000
OKNRLNAIN =85Ls F=x& 17,000,000 x12& 204,000
OKNRLAIX =HE F=XHE 10,500,000 x12& 126,000
OKNSLAIDIX E&2E F=XHE 12,000,000 x12& 144,000
OMNEAAIINK HIEOZE =XE 13,000,000 x12& 156,000
214-09 JIEtAL S =& 215,100 223,500 28,400
<usSHEY > 215,100 223,500 28,400
odozs & A& 4,800,000& x12& 57,600
ONSXANsSE Bsg M &0 3,500& *25,000& 87,500
ONSIANSE st e &Y 2,000& 13,0004 26,000
ONSASE Bt EX0f EOH 4,000& *11,000H 44,000
215 du s+ 156,000 156,000 0
215-01 E=nR=+¢ 15,000 15,000 0
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Z-#-8-2 0l &t o 0 ot o HZE2
< WSHM It 15,000 15,000 0
ONd= FxuE=s 50,000, 000& +30/100 15,000
216 Ol At==¢ 12,000 12,000 0
216-01 S30 =0l A= 12,000 12,000 0
< WsSHED > 12,000 12,000 0
ZZUZ oINS 12,000
220 LAIFAN2 == 14,648,700 14,431,000 217,700
22 2= 3,000,000 2,900,000 100,000
222-02 LetRE 3 3,000,000 2,900,000 100,000
<WSHMEIL > 3,000,000 2,900,000 100,000
O=FX&d &XHE 5,000,000& »20A 100,000
OusSRZLRE= 2,900,000
223 WESLUEHE S 6,464,000 6,079,000 385,000
223-01 &= 115,000 115,000 0
< WsSHED > 115,000 115,000 0
OSHEXXE HAZ 1,000, 000& 2024 20,000
Oz &AZEY 2t HAF 400,000& =150 60,000
OO0IMEEXNA HAZ 500,000& 70 35,000
223-05 WEH = 6,349,000 5,964,000 385,000
<WSHMEI > 6,349,000 5,964,000 385,000
OXt=sxt2clyd 28 D= 404,000
OZoHHAEZY 2B BEHZE 35,000,000& 128 420,000
O=F.ZX 2E W= 5,525,000
224 JIEt==¢ 4,000 4,000 0
224-01 2 E 302 4,000 4,000 0
<WSHMEIL > 4,000 4,000 0
OHHZE O 4,000
225 X2 5,180,700 5,448,000 A 267,300
225-01 Nt ¢ 5,180,700 5,448,000 A 267,300
< WsSHED > 5,180,700 5,448,000 A 267,300
OXtSxt2ely e ez 54,725,000& =128 656,700
Oz A2 &Y 2B WEZ 120,000,000& «12& 1,440,000
O .ZX<E WEHZ 240,000,000 =123 2,880,000
OuLERLRES 17,000,000& «12& 204,000




